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Complex value space harmonic of the magnetomotive force at the addit current from 
the defekt in the bar squirrel-cage rotor winding induction motor has been determined. 

,���
��
��
�	������"�

����	����&����������	�
�
�&���������������	��
������
�����

 �� 
������������

�� �� ����	� 
���
������ ����� ����"������� 
��	�

�	���#��
�	��
��
�&�

�����	��
���	����������������������
��	�
�����

���+
��������������	�	�������
��
�	��

����"�	������	�
���	�������������
� 
#���	�
���
����������� ��0�����������
�������	��
�����"��
������� �3%#���������
��

���&�
�����
�������������"������	�
��������������������
�������	�������������
�����x   
F0 = (0,45/p)mI0w1K���sin(ωt + πx/τ�������������������
����x�������α = πx/τ��
����������������
�����A��������	�	�i0 = � �

�
� ��� �ω p, m, w1 –�������������������
������������������������������

��������������K������τ –���������
���
	����������������
���������
���������ω = 2πf –��������
���������f –����������	�

��������	�� 

3%#�F0�����������
��
��	��
��
�������������
���������� �����������n=60f/p� ��
����������
������
�	������"�	��������
�����������	�
�
�&��
	���������������������"��
��������0%#� 

×
δ

µτ=
δ

µτ==
δδ

�����
�

��

�

���
����� ����

�

���	

��



�	

��


��

�



�	

��


���      

=






τ
π+ω

δ
µτ=













 τ
−

τ
π+ω×

δ
������

�

��
� ����������

���

���	

��
�

�	

��

�����  








τ
π+ω= ���� ������� ,                                                          (1) 

Lviv Polytechnic National University Institutional Repository http://ena.lp.edu.ua



 213 

��� E01m = 0,9µ0mfsτlI0w1K���/(pK�Kδδ); x = x0-2pτnpt/60 –� ������
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s = 0,02 s = 0,2 s = 1,0 
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1 -1 0 -1 0 -1 0 

2 30 0,091 -1,474 0,081 -9,856 0,065 -5,82 

3 29 0,075 -1,121 0,068 -7,72 0,057 -4,677 

4 28 0,061 -0,763 0,058 -5,546 0,051 -3,514 

5 27 0,05 -0,399 0,049 -3,327 0,045 -2,332 

6 26 0,042 -0,028 0,042 -1,057 0,04 -1,134 

7 25 0,034 0,353 0,036 1,267 0,036 0,074 

8 24 0,029 0,743 0,03 3,642 0,032 1,279 

9 23 0,024 1,142 0,026 6,052 0,029 2,467 

10 22 0,02 1,548 0,023 8,463 0,027 3,611 

11 21 0,017 1,954 0,02 10,816 0,025 4,682 

12 20 0,015 2,345 0,018 13,013 0,023 5,643 

13 19 0,013 2,698 0,017 14,952 0,022 6,45 

14 18 0,012 2,987 0,016 16,476 0,021 7,064 

15 17 0,011 3,177 0,015 17,457 0,02 7,449 

16 0,011 3,244 0,015 17,796 0,02 7,58 
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s = 0,02 s = 0,2 s = 1,0 
i 

F�

* 
��

o F�

* ��

o F�

* ��

o 

1 0,039 1,449 0,044 8,462 0,051 3,88 

2 0,03 0,458 0,031 2,379 0,033 0,919 

3 0,022 0,141 0,023 0,638 0,023 0,189 

4 0,017 0,012 0,017 -0,042 0,017 -0,034 

5 0,014 -0,051 0,014 -0,37 0,014 -0,213 

6 0,012 -0,086 0,012 -0,551 0,012 -0,284 

7 0,01 -0,108 0,01 -0,681 0,01 -0,327 

8 9,093· 10-3 -0,121 9,001· 10-3 -0,732 8,872· 10-3 -0,355 

9 8,105· 10-3 -0,131 8,016· 10-3 -0,779 7,896· 10-3 -0,373 

10 7,308· 10-3 -0,137 7,224· 10-3 -0,812 7,112· 10-3 -0,386 

11 6,653· 10-3 -0,142 6,574· 10-3 -0,835 6,469· 10-3 -0,395 

12 6,104· 10-3 -0,145 6,03· 10-3 -0,85 5,932· 10-3 -0,401 

13 5,638· 10-3 -0,147 5,568· 10-3 -0,861 5,477· 10-3 -0,405 

14 5,237· 10-3 -0,148 5,172· 10-3 -0,866 5,087· 10-3 -0,407 

15 4,888· 10-3 -0,148 4,827· 10-3 -0,868 4,748· 10-3 -0,408 

16 4,582· 10-3 -0,148 4,525· 10-3 -0,866 4,451· 10-3 -0,407 
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